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H 1. NEZA] MSEM Y UTHSF}
y 72 oES o= 2
T (n) on) (an) (7H/0.25m)
X 3
"‘*(;ff) H 86.9+15.3 19.3+0.9 5.3+0.3 36.4+6.7
Zitﬁg gl 20 4+55 15.342.3 3.8+0.6 14.0+2.8
3’_‘*()["{5) gl 14.8+4 1 11.7+1.1 27405 6.442.3
o] ¥ Hg7| mEo] WA S m MFEZSICHe AIZ7Fx| =t
skl = 3\ 2 2ot Alsuk 2571 1 Azzed L2 92 A) o)A <]
> 1 ] ﬂ‘
AR 713239 $oF 10a 1S AR = ohl A BFEES 19.9%, AlZOAE 16.6%
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H 2 =2 Mz &
Ele M=(kg/10a) Z1=(kg/10a)
= i o HA| i o SE
- , 108.1 664.2 17483 335.3 84.0 420.3
12 8= TER) | 45 + 45  +216 =+ 75 + 23 + 61
D3} UK F(ALZ) 51.2 45.7 97.0 16.0 16.8 329
o + 17.1 + 19.0 + 35.2 + 52 + 16.5 + 11.4
- = 175 14.6 322 5.0 5.5 10.6
3x = TR | 45 +43  +107  +20 + 9 1 + 3.8
A 1152 724 1913 356 106 463
B 3. Y U277 MEZS MAZE 2 A ZHEIFD 25F)
ooy A=(kg/10a)
= ) A |
12 2= M(TEx) 487.2+213 69.1+21 417.4+154
2X} HI2 F(AIX) 31.7+17 9.5+29 2224153
3t 2 F(AIXE) 125443 3.7+2.3 8.8+55
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= r o ol o 7 o
1X} 22 ®M(Fx) 4.8 12.2 75.0 67.9 48.6 40.5
Are=aT® | 104 + 1.1 + 22 + 35 +14 +1.2
DX} HIE K(AIX) 6.5 14.3 68.5 59.0 45.0 419
Me=mEERE 405 08 22 £28  £19 23
3%} W F(ALE) 8.0 16.6 68.2 58.5 47.8 39.0
e e +08 + 1.0 + 3.1 + 1.8 +28 + 24
MM AZ(H| ) 10 64 37
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oo P(%) ca(%) k(5)
= r o rH o c o
] _ 0105 0.11 0.10 0.42 0.86 0.87
1A= JTR) | 001 +003  +001  +010 +005 + 010
ozt e mag) | 010 0.13 0.11 0.30 131 1.40
= AR | 1002 +003  +003 +005 +010  + 020
axt wz maz) | O 0.14 0.13 0.35 {55 114
AYEHYR) 0 o020 +005  +£002 +£006 +015  + 010
HZEAFE 7% (H| @) 0.16 0.21 127
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H 6. MEZAN F7/EH AHA=S7IF)

E Mg(%) Na(%) Fe(ppm)
= c A cH s CH e
'3 we mag) | 006 0.09 0.04 0.03 356.7 2435
+001 +001 +001 +001 +176 + 190
oxt w2 muz) | 008 013 0.02 0.02 213.3 263.3
+001 +002 +001 +001 +2321 +125
a3t we M) | 007 0.14 0.04 0.03 271.6 172.2
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HIZEA2 7% (H| @) 0.14 0.19 120
H 7. NEZA 27 e2HAUS7|Z)
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= cH A cH ] CH !
_ o | 165.1 5715 741 50.1 3.8 5.6
8= TER) | L9451 £208 + 40 + 50 + 0.4 + 0.7
_ _ 162.1 403.6 62.4 39.4 43 5.5
2R BSTWR) | 150 +£251 +45 + 2.0 + 0.3 + 0.4
_ _ 2251 492.1 64.0 40.4 6.3 5.9
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